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L =
[

(1 − d†d)τ 0 − 2p†p
]−1/2

,

R =
[

(1 − e†e)τ 0 − 2p̃†p̃
]−1/2
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�
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M =
[

1 + e†e + d†d +
∑

µ

p†µpµ

]1/2
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∑
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∑
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∑
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HSB =
∑

ij

∑

σσ′σ1

tijz
†
iσ1σf

†
iσfjσ′zjσ′σ1

+ U
∑

i

d†idi,
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β = 1/kBT
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Z = ZbZf =
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]D[f, f †]D[λ]e
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β
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dτ [LB(τ)+LF (τ)]
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LB =
∑

i

{

e†i
(

∂τ + iλ
(1)
i

)

ei +
∑

µ

p†iµ
(

∂τ + iλ
(1)
i − iλ

(2)
0i

)

piµ

− λ
(2)
i

(

p†0i

�
i +

� †
ip0i − i

� †
i ×

�
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)

+ d†i
(

∂τ + iλ
(1)
i − 2iλ

(2)
0i + U

)

di − iλ
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i +

A · , i

}
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∑
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[(

∂τ − µ+ iλ
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i · τ σ′σ
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+
∑

ij

∑

σσ′σ1
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dτLB(τ)
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LB =
∑

i

{

d†i [∂τ + αi − 2β0i + U ]di + αi(e
2
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∑
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∑
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Lb =
∑

i

{

αi(e
2
i + p2

0i + p2
i + d2

i − 1) − β0i(p
2
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i + 2d2
i )
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2
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p0i = cos θi,

pi = sin θi cosφi,

di = sin θi sinφi cosψi,

ei = sin θi sinφi sinψi.
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Lh�����  �&1�
������ E�
&�J���&�,^�
"���&��A��*�,����`���EY#� ��!�9�� ,���������"���$���,
LS��!#"]�����W���
,�,�&��(dC��!#��$+�U��o�*��2����!#$�� ∇F = 0

> @ �������W�����W���
�Z���1�
&h,������AY
�2���AY#���U�
���k�0�
/
��$
@ �A���p���������� ��R��! β0i

>
βi

>��
$�,
Ψi ∈ {θi, φi, ψi}

�������
���2����&A6NLS!#�a�E�
 0�^��$���o�*��AY
�
&���$+�5���A���
i

@ �A������$^�
$X��&���"���$+�0�
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∂F

∂β0i

= ni − (p2
0i + p2

i + 2d2
i ),

�
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∂F

∂βi
= mi − 2p0ipi,

�
;�3 & : 	

∂F

∂Ψi

=
∂Lb

∂Ψi

+
∂Ωf

∂Ψi

,
�
;�3 �4H 	
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ni =
∑

� σ

fF (ε � σ)
∂ε � σ

∂βoi
,

�
;�3 � � 	

�
$�,^�����k�
"���&��A��*�,��U!
Lj�����_������$X,���$����A�C6 @ �EY#�
>

mi =
∑

� σ

fF (ε � σ)
∂ε � σ

∂βi
.

�
;�3 � & 	

e �����
>

fF (ε � σ) =
1

exp(βε � σ) + 1
,

�
;�3 �4� 	
��������� ������"�� d K �����
 K,����Z������9�*V����!#$DLS*�$� �����!#$ LS!#�p�����I�Z�0�2����� @ �A���B��$�����<
6 ε � σ

3 6 �
 0�
9�!#��!#$��� ��h�
<#���
$�<#�1�
$X,������AY
�2���AY#� @ �A���K���������� ��g��!N�����)�
$�<#&���� Ψi

��$ 6 o 3��
;�3 �4H 	a E�
$m9��
�E�
����&A6�LS!#*�$�,X9+6p�����W�
$��
&A6����� E�
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L
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&���!
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;�3 � : 	l�
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∂Ωf

∂Ψi

= −kBT

Zf

∂Zf

∂Ψi

=
∑

jk

∑

σσ′σ1

tjk
∂

∂Ψi

(

zkσ′σ1
z†jσ1σ

)

〈f †
jσfkσ′〉

=
∑

δ

∑

σσ′σ1

ti,i+δ

[(

∂ziσ′σ1

∂Ψi

)

z†i+δ,σ1σ〈f
†
i+δ,σfiσ′〉 + zi+δ,σ′σ1

(

∂z†iσ1σ

∂Ψi

)

〈f †
iσfi+δ,σ′〉

]

,

�
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@ ������� δ
&1�
9���&��p�
&�&O�����;$�����<#��9�!#���p!
Lk�����;���A���

i
 �!#$�$��� �����, 9+6 �����I��!#������$�<

ti,i+δ

3
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�Z�5*�$�/�$�! @ $Xo�*��
$+���A�C6#>V�����  0����"��� E�
&Q��!
����$+���1�
& µ

>����a,���������"���$���,���!����2�����ZL 6������
 �!#$�,��A����!#$�LS!#�a����� ��!
�0�
&?��&��� �����!#$^,���$����A�C6#>

Nel =
∑

� σ

fF (ε � σ).
�
;�3 �0(
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��� @ ���� 0�m�
&�&�! @ �5��!� �!�Y#���O�����k��$+�������_&1�2������ �� 9+6X��"N�
&�&?*�$��A�O ���&�&���3�� ���O*��O �!#$�����,����
����� LS����"���!#$��� U"N�2����� '���$p�����_"�!#"���$+��*�" ��������������$+�0�2����!#$?>

H =
∑

���
′

∑

σσ′

f †�
σM

σσ′
���

′ f � ′σ′ .
�
;�3 �4F 	
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�
$�, !
2

> ��*� 0�I�����2�
f †

i+n � 1+m � 2 = f †
i

LS!#�g�E�
 0� {n,m} > �
$�,%��Y#�� ���!#� δM

&1�
9���&���$�<��
&�&
��$���o�*��AY
�
&���$+�R���A�����

i @
�A������$p�����_*�$��A�5 ���&�& �

�
i = n

!
1 +m

!
2 + δM .

�
;�3 �0O
	
45��������LS!#���
>�LS!#�a�����_&�!= E�
&

β0

������"]!#$��_<#������>

Mσσ���
′(β0) =

1

N

∑

i

β0ie
i(
� − � ′) � i =

1

N

∑

cells,δM

β0δM
ei(
� − � ′)(n � 1+m � 2+δM ).

�
;�3 �4Q 	

��*��Z��������"�!#���
>��
$+6^�
&�&�! @ ��, @ �EY#�_Y#�� ���!#���% E�
$^9��_,��� �!#"���!#����,X��$+��!�����*�"X>
�

= � + � ,
�
;�3 �4: 	

@ �A���)�U ����Z�0�
��$kY#�� ���!#� �
�����2�j6=����&�,��l�O��&1�
$�� @ �EY#� @ �A���)��������!=,��� ��A�C6g!
L��O<#�AY#��$�b`���EY
�
���

&1�2������ ��g9+6p���2�����ZL 6=��$�<������ LS!#&�&�! @ ��$�<) �!#$�,��A����!#$���>

ei ��� 1 = 1, ei ��� 2 = 1,
�
;�3 ;0H 	

@ �������E�
�`�
$��
������!#�����1�2���`Y#�� ���!#� � ���M 0��!#����$7��!_<#��$������2���O�  �!#"���&������a�����c!
L�Y#�� ���!#�����M3
) ! @ > 6 o 3 �
;�3 �4Q 	` E�
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Mσσ���
′(β0) =

1

N

∑

δM

β0δM
ei( 	 − 	 ′+ � − � ′)δM

∑

cells

ei( 	 − 	 ′)(n � 1+m � 2).
�
;�3 ; � 	

e ! @ ��Y#����>
∑

cells

ei( 	 − 	 ′)(n � 1+m � 2) =
N

NC

δ 	
	 ′ ,
�
;�3 ; & 	

@ ������� NC

���5��$�*�")9����5!
Ll�2��!#"��a��$������ *�$��A�5 ���&�&f>V��!������2�5����� ���2����!
N/NC

<#�AY#���a�����
$�*�")9���� !
L`*�$��A�  ���&�&�� $�����,���,I��!^ �!�Y#���k� @ ��!#&��� �&�*��Z����� @ �A��� N

���A������3�45����� ����,�*� ����
�����_��$��A���1�
&�"N�2����� '

Mσσ���
′(β0)

,�! @ $K��$+��!7�79�&�!= 0/#dC,��1�
<#!#$��
&�!#$�� @ �A���p�����_9�&�!= 0/���>

Mσσ�
� ′(β0) =
1

NC

∑

δM

ei( � − � ′)δMβ0δM
.

�
;�3 ;0� 	

� $��
&�!#<#!#*���&A6#>2�����5!
P dC,��1�
<#!#$��
&���$)������$���$�,��� ����l"N�2����� '
Mσσ′
���

′ (β)
�0�
/
���i�g����"���&1�
�h9�&�!= 0/#d

,��1�
<#!#$��
&Q�����
���
>

Mσσ′

�
� ′(β) =
1

NC

∑

δM

ei( � − � ′)δM βδM
· τ σ′σ.

�
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����$��
&�&A6#>������_/���$������� ��$�����<
6�������"]���E�
,���>

T σσ′
���

′ =
1

N

∑

ij,σ1

ei
� � itijz

†
iσ1σzjσ′σ1

e−i
�
′ � j

=
1

N

∑

i

ei(
� − � ′) � i

∑

δ

e−i
�
′
δti,i+δ

(

zi+δz
†
i

)T

σ′σ
,

�
;�3 ;=(
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�
$�, �2L �����7,��� �!#"���!#���A����!#$�� �
;�3 �0O
	)�
$�,��
;�3 �4: 	��
$�, ��*�9�����o�*���$+�^����"���&��AJ� E�2����!#$��k�����2�
LS!#&�&�! @ LS��!#" 6 o���3 �
;�3 ;0H 	a�
$�, �
;�3 ; & 	`!#$��_!#9V�0�
��$���>

T σσ′

�
� ′( � ) =
1

NC

∑

δM

ei(G−G
′)δM

×
∑

δ

e−i(K+G
′)δtδM ,δM+δ

(

zδM+δz
†
δM

)T

σ′σ
.

�
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e ��$� ��
> @ �I���EY#�%����,�*� ���,G�����;/���$������� ;��$�����<
6B"N�2����� '
T σσ′
���

′

��$+��!-,��� �!#*���&���,G9�&�!= 0/��
&1�
9���&���,^9+6�Y#�� ���!#���

�
3 K *��_��!7�������a�����
$��ZLS!#��"N�2����!#$?>V!#$��_ E�
$K����&��A�R�7&1�
��<#�

2N × 2NLS����"���!#$��� �"N�2����� '
Mσσ′
���

′

> @ ���� 0�- �!#$������Z����!
L Mσσ�
� ′(β0)
>
Mσσ′

�
� ′(β)
>i�
$�,

T σσ′
���

′

������"���>
��$+��!

N/NC

��"N�
&�&����
2NC × 2NC

"N�2������ ���� � L �
 ���!#�p� @ ! ��$+�������X! @ ��$�<F��!-�����%������$
,���<#��$������
 �6 	(3 45�����U����"���&��AJ� E�2����!#$^<#�AY#���g�N �!#$�����,������
9�&��k����"��k<+�
��$K,�*�����$�<N$�*�"������� E�
&
 E�
&� �*�&1�2����!#$���3h\C$�,�����,?>V�
�������5*���*��
& @ !#��/�&�!+�
,���$7�g,��1�
<#!#$��
&���8E�2����!#$k�
&�<#!#���A����"[��� ∼ N3� � (�; 
 >j�����N$�*�")9����W!
La!#�������2����!#$%$�����,���,:LS!#�k,��1�
<#!#$��
&���8E�2����!#$m!
L5��"N�
&�&���� "N�2������ ����_���
∼ N

NC
·N3

C = NN2
C

3l45�����i"��E�
$��l�����2�M�����R�Z6="�"������Z6�����,�*� �����!#$7"N�
/
���M�����R�('V�� �*V����!#$
����"��R!
Lh�W����!#<#���
"

(N/NC)2 ����"����i"�!#���O���� �����$+�R�
�c �!#"����
����,N��!)�k�Z�����
��<#�+��LS!#� @ �
��,� 9���*V��� LS!#�� �� ��,��1�
<#!#$��
&���8E�2����!#$�!
Lj�����
N ×N

"N�2����� 'Q3
� ��J�$������I�������k�=�� �����!#$I!
P-9+6I��Y
�
&�*��2����$�<N�����7&�!= E�
&���&��� �����!#$.�
$�,I"N�
<#$�������8E�2����!#$

,���$����A�C6#>

〈f †
iσfiσ〉 =

∑

�

Ψ†
iσ( � )Ψiσ( � )fF (ε � σ),

�
;�3 ;=O
	

∑

σσ′

〈f †
iστ σσ′fiσ′〉 =

∑

σσ′

∑

�

Ψ†
iσ( � )τ σσ′Ψiσ′( � )fF (ε � σ),

�
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@ ������� ε � σ

�
���i����<#��$+Y
�
&�*����j!
LV����� e �
"���&A��!#$��1�
$ �
;�3 �4F 	 �
$�,
Ψ†

iσ( � )
�
���M�����c �!#����������!#$�,=d

��$�<W���E�
&Q�����
 �� ����<#��$+Y#�� ���!#����3i\C$p!#��,����c��!�>V��Y
�
&�*��2���O��������� �EY#�����
<#��� @ � ��$+����!=,�*� ��OJ����Z�
�� ����Z�0�
��$^*�$��A�0�
�Z6N�����
$��ZLS!#��"X>

g � σ =
∑

�
Φ†

� � σf � σ,
�
;�3 ;0: 	

@ ���� 0�X,��1�
<#!#$��
&���8����c�����_"N�2����� ' Mσσ′
���

′

��!������2�E>

∑

� �
′

∑

σσ′

f †�
σM

σσ′
���

′ f � ′σ′ =
∑

� σ

g†� σε � σg � σ.
�
;�3L(GH 	

) ! @ >�*�����$�<���������!#*��������a�����
$��ZLS!#��"X>

f � σ =
1√
N

∑

i

e−i
� � ifiσ =

∑

i

U � ifiσ,
�
;�3L( � 	

�
$�, 6 o 3 �
;�3 ;0: 	(>�!#$��) E�
$m�('V���������k�N���E�
&j�����
 ���!#�������2��!#�
fiσ

��$K������"��U!
LM����� ��!#*��������
�����
$��ZLS!#��"���,^!#�������2��!#�

g � σ

>

fiσ =
∑

� �

U †
i
� Φ � � σg � σ.

�
;�3L( & 	
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〈f †
iσfiσ〉 =

∑

���
′ �

Φ†
� � σU � iU

†
i
�
′Φ � ′ � σfF (ε � σ),

�
;�3L(G� 	

∑

σσ′

〈f †
iστ σσ′fiσ′〉 =

∑

σσ′

∑

� �
′ �

Φ†
� � σU � iτ σσ′U

†
i
�
′Φ � ′ � σ′fF (ε � σ),

�
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6 o�*��AY
�
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Lh�����g"N�2����� '
Mσσ′
���

′

��$+��!),��� �!#*���&���,^9�&�!= 0/��a&1�
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�
>�!#$��_!#9V�0�
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〈f †
iσfiσ〉 =

∑

	 �

� � ′

Φ
†( 	 )

� � σU 	 + � ,iU
†
i, 	 + � ′Φ

( 	 )

� ′ � σ
fF (ε( 	 )

� σ ),
�
;�3L(4(
	

∑

σσ′

〈f †
iστ σσ′fiσ′〉 =

∑

σσ′

∑

	 �

�
� ′

Φ
†( 	 )

� � σU 	 + � ,iτ σσ′U
†
i, 	 + � ′Φ

( 	 )

� ′ � σ′fF (ε( 	 )
� σ ).

�
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e ����� @ �W����! @ ��! @ ��!N,���������"���$��_�����k����� !
L @ �EY#�)Y#�� ���!#����� � } LS!#�R�����kY#���Z���� E�
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$�,,��1�
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&`� ' �Z������������> @ �������E�
�)����� { � } �����)LS!#�k������b ' �Z�����������W E�
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8 × 8
 �&�*��Z����� @ �A���KY#���Z���� E�
&l� ' ,�!#"N�
��$ @ �
&�&��O�������
d

���2����,m9+6
d = 4

&1�2������ ��_�����
 ���$�<#�g�
�U����! @ $;��$ ����<�3�;�3 � � � 	(3R45���W��"N�
&�&����Z�O*�$��A�U ���&�&h��$
�������  E�
���� �!#$������Z���_!
L5�p��! @ !
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K K e "�!=,���&f3 � ����*�"���$�<g�
<+�
��$k� @ ! !#��9��A�0�
&��h��$W����� � K  E�
���a�A��,����� �����9����������a,V6=$��
"��� ��
!
L�� @ !��
 ����AY#� t2g

!#��9��A�0�
&���>��
3 <�3cLS!#�O�7 0���
��$K�
&�!#$�<
x
�
'V����> |ζ〉 ∼ |xz〉 �
$�, |ξ〉 ∼ |xy〉 >��!7�����2�E>

tζξ
t2g

= −t
(

1 0
0 1

)

.
� (=3 Q 	

7��
�����j!
L�!#�Z����!#<#!#$��
&�!#��9��A�0�
&�� {|ζ〉, |ξ〉} *�����,���$k9�!
���)"�!=,���&��j�
���c����������$+����,7��$ ����<�3�(=3 � 3

� � @ �)�
���W��$+���������Z����,;��$^�����W ��Z6=�Z�0�
&jJ���&�,;�
 �����$�<N�
&�!#$�<7����� c
�
'V���O����������$�,��� �*�&1�
�

��!k�����O 0���
��$?> @ �U$�����,N��!W��!
�0�2���R�����RJ���&�, � (=3 ; 	M9+67�����U���
"��O�
$�<#&�� θ = ±2π
3

3 PK�
/���$�<
�
$K��$+Y#�������k�����
$��ZLS!#��"N�2����!#$p��! � (=3L(
	5�
$�,K�('V������������$�<�!#��9��A�0�
& ����!����� �����!#$K!#�������2��!#���O!#$
|x〉 �
$�, |z〉 !#��9��A�0�
&f>

nixσ = |xiσ〉〈xiσ|, nizσ = |ziσ〉〈ziσ|,
� (=3 : 	
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 ��U��!#&�*V����!#$p!
Lj����� � @ !2dC���A���  �&�*��Z����� : �

��$F������"���!
L $�� @ LS����"���!#$F!#�������2��!#���
c†iζ(ξ)σ

> @ ���� 0�  ����E�2���m�
$D��&��� �����!#$ �2� |ζ〉 � |ξ〉 	!#��9��A�0�
&f>=���������� ����AY#��&A6#>������_ ��Z6=�Z�0�
&?J���&�,^������" � (=3 ; 	c�0�
/
���5����� LS!#��"X>

Hcf = 1
2
E0

∑

iσ

[

cos θ(c†iξσciξσ − c†iζσciζσ) + sin θ(c†iξσciζσ + c†iζσciξσ)
]

.
� (=3 � H 	

) !
���N�����2�
cos θ

���W$���<+�2���AY#����!m�����NJ���&�, � (=3 � H 	 L �EY#!#���W����� |ξ〉 dC!= � �*����
$� �6.!�Y#���W�����

|ζ〉 dC!= � �*����
$� �6#>��
�R�A�5����!#*�&�,?3� ���a*��`$�! @ ,���J�$��O�����O��!
�0�
& ������$N!#�������2��!#� , =
∑

i

,
i
@ �A���������U������$N �!#"���!#$���$+���

,���J�$���,K��$p�����_*���*��
& @ �E6#>

,
i = (S+

i ,S−
i ,Sz

i ) =
{

∑

α

c†iα↑ciα↓,
∑

α

c†iα↓ciα↑,
1
2

∑

α

(niα↑ − niα↓)
}

,
� (=3 �4� 	

@ �������W�����W��*�"�"N�2����!#$��R��*�$K!�Y#���g9�!
���K!#��9��A�0�
&�� α = {ζ, ξ} 3a45��� e �
"���&A��!#$��1�
$ � (=3 � 	 �!#"�")*V�����59�!
��� @ �A���p�����_��o�*��
���k�
$�, z
dC �!#"���!#$���$+�O!
Lj����� ��!
�0�
&?������$^!#�������2��!#��>

[
, 2,H] = [Sz,H] = 0.

� (=3 ��& 	
45�����a��"���&������i�����2�a�A�a���a��!#������9�&��O��!)J�$�,p����")*�&A�0�
$���!#*��`����<#��$��Z�0�2�����5!
Lh��������� !#�������2��!#���
�
$�,.����� e �
"���&A��!#$��1�
$ H 3K45��������LS!#���
>l������6:�
���N<#!=!=,.o�*��
$+��*�" $�*�")9��������
$�,:&1�
9���&
�����U����<#��$��Z�0�2������3 � ��/
� @ �����
> @ �g��$+����!=,�*� ��O�����O��!
�0�
&�!#��9��A�0�
&�������*�,�!#������$p!#�������2��!#� @ =
∑

i

@
i
@ ������� ����� ���������k �!#"���!#$���$+���5!
Ll������*�,�!#������$K�
���_<#�AY#��$^9+6#>

@
i = (T +

i , T −
i , T ζ

i ) =
{

∑

σ

c†iξσciζσ,
∑

σ

c†iζσciξσ,
1
2

∑

σ

(niξσ − niζσ)
}

.
� (=3 � � 	

\C$m!#��,����R��!�,����Z����$�<#*������X����������$�,��� �*�&1�
�5��!��N 0���
��$
c
�
'V���RLS��!#"]�����W!
�������g�
'V���g�
&�!#$�<

@ ���� 0� !#$��^ E�
$  �!#$�����,����������^ 0���
��$?> @ �^���EY#�X&1�
9���&���,-�����p��������,F �!#"���!#$���$+�7!
LO�����
������*�,�!#������$ @ �A���F����� ζ

��$�,��('Q3 ) !
���X��! @ ��Y#���������2����$  �!#$+�����
�Z����!I�����X������$ !#����� d
�2��!#��>5�����

ζ
dC �!#"���!#$���$+��!
L_�����m������*�,�!#������$B!#�������2��!#� T ζ

i

,�!=���p$�!
�p �!#"�")*V��� @ �A���
����� e �
"���&A��!#$��1�
$ � (=3 � 	 @ ���� 0�-"�� '%�Z�0�2����� @ �A���:,��APQ������$+�WY
�
&�*����W!
L5�������k!#9������ZY
�
9�&��
3
) ��Y#���Z������&�������> @ � @ ��&�&i*����N�A���k����<#��$+Y
�
&�*����k��!#<#��������� @ �A���%����� z dC �!#"���!#$���$+�)!
L , ��!
������ ��AL 6�")*�&A�������
�Z���� �&��5�Z�0�2�����`��$�������"��`!
L @ ���� 0� @ � @ ���A���R����� e �
"���&A��!#$��1�
$?3h4j!) �!#*�$+�
�EY
�
��&1�
9�&��  �!#$VJ�<#*����2����!#$���> @ ���
����&A6X��&���"���$+�0�
�Z6X�Z�0�2�����Z���� �� @ ���� 0�;<#�AY#���OLS!#�g� Nd

dqLS!#&�,
!#��9��A�0�
&�&A6�,���<#��$������2���_9��
$�,X�Z6=�Z����" @ �A��� N

���A�����O�
$�,
Ne

��&��� �����!#$���>

L =

(

2N ·Nd

Ne

)

,
� (=3 � ; 	

�2��!#"��� i �!#$VJ�<#*����2����!#$��hLS!#��"���$�<U�O9��
������3 e ��$� ��a��$W!#*��j� @ !2dC���A���c 0���
��$ @ �A���k� @ ! 9��
$�,���>
�����_9��
�����5 �!#$������Z���O!
L

L = 28
�Z�0�2�����U�
&A��!#<#����������3 � "�!#$�<�������"X>V���������k�
���
>

L± = 2

(

N ·Nd

Ne

)

= 12,
� (=3 � (
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�Z�0�2�����R��$p�����_��*�9������
 �� @ �A��� Sz = ±1
> @ �������E�
��>

L0 =

(

N ·Nd

Nσ

)2

= 16,
� (=3 � F 	

�Z�0�2�����g�����
$K�����
Sz = 0

��*�9������
 ��
> @ �A��� Nσ = Ne/2
9�����$�<������W$�*�")9����U!
LM��&��� �����!#$��

@ �A���^��<#�AY#��$p������$ σ
3 ) !
���� ��U�����2�R9+6p�
 � ���,���$+�E>������ $�*�")9����5!
Lj�Z�0�2����� @ �A��� Sz = 0

���
������ �������&A6������_���
"��_�
�5�����_$�*�")9����R!
L�&�! @ ��$�����<
6p����$�<#&A6�!= � �*�������,X�Z�0�2������>

LS = (2 ·Nd)
N = 16.

� (=3 � O
	
\q�N���7�Z�����
��<#�+��LS!#� @ �
��,F��!. �!#$��Z����*� ��N�('V��&��� ��A��&A6-�
&�&a�����X�Z�0�2������>a�Z�0�
�Z����$�< @ �A���F�����

Sz = 1
��*�9������
 ��
3c45�������W�
��� � @ !��Z�0�2����� @ �A��� T ζ = ±1

>

|Ψζ↑〉 = c†1ζ↑c
†
2ζ↑|0〉, |Ψξ↑〉 = c†1ξ↑c

†
2ξ↑|0〉,

� (=3 � Q 	
�
$�,^LS!#*�� @ �A��� T ζ = 0

>

|Ψ±
1↑〉 = 1√

2

(

c†1ξ↑c
†
2ζ↑ ± c†1ζ↑c

†
2ξ↑
)

|0〉, � (=3 � : 	

|Ψ±
2↑〉 = 1√

2

(

c†1ξ↑c
†
1ζ↑ ± c†2ξ↑c

†
2ζ↑
)

|0〉. � (=3 & H 	
\C$p����� ����<#��������$^��*�9������
 ��

Sz = ±1
>V����� e �
"���&A��!#$��1�
$ � (=3 � 	 @ �A���������UJ���&�,p<#�AY#��$

9+6 6 o 3 � (=3 � H 	`���5,��� �!#"���!#����,X��$+��!��
4 × 4

"N�2����� 'Q>

H1 =
∑

σ

(

〈Ψξσ|, 〈Ψζσ|, 〈Ψ+
1σ|, 〈Ψ−

2σ|
)

×









Ec 0
√

2Es 0

0 −Ec

√
2Es 0√

2Es

√
2Es 0 t−

0 0 t− U3

















|Ψξσ〉
|Ψζσ〉
|Ψ+

1σ〉
|Ψ−

2σ〉









,

� (=3 &�� 	
�
$�,K�

2 × 2
"N�2����� 'Q>

H2 =
∑

σ

(

〈Ψ−
1σ|, 〈Ψ+

2σ|
)

(

0 t+
t+ U3

)(

|Ψ−
1σ〉

|Ψ+
2σ〉

)

.
� (=3 &4& 	

e ����� @ �����EY#�N��$+����!=,�*� ���,I��������PQ�� ����AY#����!#������$�<X�
"���&��A��*�,���� t± = tζζ ± tξξ

3N45�������
�('V��&��� ��A�_Y
�
&�*����_,�������$�,-!#$%������������*�,�!#������$:�Z6="�"������Z6#3���!#� �����

eg

"�!=,���& @ �A���I�����
��"�"�!#9���&�� |ξ〉 ������*�,�!#������$�!#$��U!#9V�0�
��$�� t+ = t− = t

> @ �������E�
�`LS!#�i����� t2g

!#$�� @ �A���������
��o�*��AY
�
&���$+�g9��
$�,��g!#$��W���
�

t+ = 2t
�
$�,

t− = 0
3 ��*��Z��������>

U3 = U − 3JH

���O�����W!#$=d
���A���_��$+������!#��9��A�0�
& ' !#*�&�!#")9^��$+�������
 �����!#$^!
L�� @ !N���
���
&�&���&Q������$�� � ��������&����5�Z�0�2����	(3�����$��
&�&A6#>
Ec = E0 cos θ

�
$�,
Es = E0

2
sin θ

�
���R�����g,��1�
<#!#$��
& �
$�,�!
P dC,��1�
<#!#$��
&�"N�2����� '7��&���"���$+���
!
La�����N ��Z6=�Z�0�
&cJ���&�,%������"X3^4 @ �� ��N&1�
��<#���W�
"���&��A��*�,���!
La�����NLS!#��"���� ∝ ±

∑

iσ niασ

���
,�*��k��!7�����_L �
 ��O�����2�g�
����&�����,^!#$X����� |Ψασ〉

�Z�0�2���
>� �!#$������Z����$�<�!
Ll9�!
���K��&��� �����!#$�� @ �A���
�����

α
������*�,�!#������$ M �EY#!#��>�6=����&�,��W�pL �
 ���!#�

2
3 � ,�,��A����!#$��
&�&A6#> √

2
��$I����� e �
"���&A��!#$��1�
$

"N�2����� ' � (=3 &�� 	 ���k! @ ��$�<X��!m,��APQ������$+�)$�!#��"N�
&���8E�2����!#$KL �
 ���!#���W!
La����� |Ψασ〉
�
$�, |Ψ+

1σ〉�Z�0�2������3
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 ��U��!#&�*V����!#$p!
Lj����� � @ !2dC���A���  �&�*��Z����� :4�

\C$7�����R�
9�����$� ��O!
LQ�gJ�$��A���5 ��Z6=�Z�0�
&�J���&�,?>#����� |Ψασ〉
��������&������ @ �A��� T ζ = ±1

>�9��� �!#"��
LS*�&�&A6^&�!= E�
&���8���,K�
$�,m,���<#��$������2��� @ �A���m����<#��$���$�����<
6 E±

T = 0
>Q9�����$�<N �!#"�"�!#$XLS!#�U9�!
���

"�!=,���&���3l45���k!
�������aLS!#*��R����<#��$���$�����<#�����5"���<#�+�59�� @ ���A������$^��$X�� �!#"����
 ��O�('V������������!#$?>

ET±
(t±) = 1

2

(

U − 3JH ±
√

(U − 3JH)2 + 4t2±

)

.
� (=3 & � 	

) ! @ @ �.�
���;&���L � @ �A��� ����� Sz = 0
��*�9������
 ��% �!#$������Z����$�<F!
LW����<#�+�^�Z�0�2����� @ �A���

T ζ = ±1
>

|Φ±
1 〉 = 1√

2

(

c†1ζ↑c
†
2ζ↓ ± c†1ζ↓c

†
2ζ↑
)

|0〉, � (=3 & ; 	

|Φ±
2 〉 = 1√

2

(

c†1ζ↑c
†
1ζ↓ ± c†2ζ↑c

†
2ζ↓
)

|0〉, � (=3 & (
	

|Φ±
3 〉 = 1√

2

(

c†1ξ↑c
†
1ξ↓ ± c†2ξ↑c

†
2ξ↓
)

|0〉, � (=3 & F 	

|Φ±
4 〉 = 1√

2

(

c†1ξ↑c
†
2ξ↓ ± c†1ξ↓c

†
2ξ↑
)

|0〉, � (=3 & O
	
�
$�,X����<#�+� @ �A��� T ζ = 0

>

|Φ±
5 〉 = 1√

2

(

c†1ξ↑c
†
1ζ↓ ± c†2ξ↑c

†
2ζ↓
)

|0〉, � (=3 & Q 	

|Φ±
6 〉 = 1√

2

(

c†1ξ↑c
†
2ζ↓ ± c†1ζ↓c

†
2ξ↑
)

|0〉, � (=3 & : 	

|Φ±
7 〉 = 1√

2

(

c†1ξ↓c
†
1ζ↑ ± c†2ξ↓c

†
2ζ↑
)

|0〉, � (=3 �4H 	

|Φ±
8 〉 = 1√

2

(

c†1ξ↓c
†
2ζ↑ ± c†1ζ↑c

†
2ξ↓
)

|0〉. � (=3 � � 	
\C$^������"��5!
Lj���������k�Z�0�2������>������ LS!#&�&�! @ ��$�< e �
"���&A��!#$��1�
$N"N�2������ ����R�
���gLS!#*�$�, �
H3 =

(

〈Φ−
1 |, 〈Φ+

2 |, 〈Φ+
3 |, 〈Φ−

4 |, 〈Φ+
5 |, 〈Φ−

6 |, 〈Φ+
7 |, 〈Φ−

8 |
)

×

























−Ec 2tζζ 0 0 0 Es 0 −Es

2tζζ U − Ec JH 0 Es 0 −Es 0
0 JH U + Ec 2tξξ Es 0 −Es 0
0 0 2tξξ Ec 0 Es 0 −Es

0 Es Es 0 U2 t+ −JH 0
Es 0 0 Es t+ 0 0 0
0 −Es −Es 0 −JH 0 U2 t+

−Es 0 0 −Es 0 0 t+ 0

















































|Φ−
1 〉

|Φ+
2 〉

|Φ+
3 〉

|Φ−
4 〉

|Φ+
5 〉

|Φ−
6 〉

|Φ+
7 〉

|Φ−
8 〉

























,
� (=3 � & 	

�
$�,?>

H4 =
(

〈Φ+
1 |, 〈Φ−

2 |, 〈Φ−
3 |, 〈Φ+

4 |, 〈Φ−
5 |, 〈Φ+

6 |, 〈Φ−
7 |, 〈Φ+

8 |
)

×

























−Ec 0 0 0 0 Es 0 Es

0 U − Ec JH 0 Es 0 −Es 0
0 JH U + Ec 0 Es 0 −Es 0
0 0 0 Ec 0 Es 0 Es

0 Es Es 0 U2 t− −JH 0
Es 0 0 Es t− 0 0 0
0 −Es −Es 0 −JH 0 U2 t−
Es 0 0 Es 0 0 t− 0

















































|Φ+
1 〉

|Φ−
2 〉

|Φ−
3 〉

|Φ+
4 〉

|Φ−
5 〉

|Φ+
6 〉

|Φ−
7 〉

|Φ+
8 〉

























,
� (=3 �4� 	
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